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(18.7)

The maximum likelihood estimate is easily shown to be , and the

LOD score becomes

The result is far from significant.

Example 18.4 (Complete information, recessive disorder)

Figure 18.4 Pedigree with recessive disorder. All 12 meioses are non-recombinant.

Figure 18.4 shows a family with a recessive disorder. Assuming the geno-

types and phases are as indicated, it is easy to check that no recombination

can have happened between the two loci. Note in particular that in this

pedigree both parents are doubly heterozygous, giving a total of 12

informative meioses. Since there are no recombinations, the likelihood

function is proportional to  with maximum at  The

LOD score is therefore
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